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ted-Component Cut Relaxation)I Algorithmi
 framework: Iterative Randomized RoundingI Here: Simpler (1:5 + ")-apxTheoremThe Dire
ted-Component Cut Relaxation has an integrality gapof at most 1:55.I First < 2 bound for any LP-relaxation.
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Theorem (Edmonds '67)R = V ) BCR integralI Integrality gap � 4=3 for quasi-bipartite graphs[Chakrabarty, Devanur, Vazirani '08℄I Integrality gap 2 [1:16; 2℄
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onstraints: exponentialI Approximable within 1 + " (we ignore the " here).
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The saving fun
tionDe�nitionFor a Steiner tree S, the saving fun
tion w : E ! Q+ isde�ned asw(u; v) := maxf
(e) j e on u� v path in Sg:
u vw(u; v) := maxf
(e) j e on u� v path in Sg
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ien
e.epfl.
h/re
ord/148220/files/SteinerTree-STOC2010.pdf
Thanks for your attention
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